LI

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO11-1

NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:
APPVD Slide Dee with 2,15 slide
e . . " :
;{é’ Ti ptl ptapo” T wood, metal, plastic A4
WEIGHT: | SCALE: 1:20 SHEET 1 OF 16




1

Safety area

7576

2 3
- 3965 _
I
o S
V% S S
% = S

Y

1

o~

1500

4076

1500

1

=

1000

2000
.%
N
N)
S

965

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO11-1

NAME

SIGNATURE

DATE

REVISION

DRAWN

|.Agar

12.05.2022

APPV'D|

DESCRIPTION:

Slide Dee with 2,15 slide

ia  Tiptiptap™

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:40

SHEET2 OF 16




3170

LA Tiptiptap™

4 5
- 4076 -
I "‘ I
J ) ) ﬂ
X
285 3 N
e
1 b i
dl— [ R |
i I
o) g Q o
o) / S [\
1
/ & 8 5| | /9300
™ <
v N N
/<\ =
ground
=N,
° s C
1 _ B B B 0 ) R |
559
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
DB ARE N KLOGRA LMO11-1
NAME SIGNATURE DATE REVISION
DRAWN| |.Agar 12.05.2022 DESCRIPTION:
APPV'D Slide Dee with 2,]5 slide
MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:30

SHEET3 OF 16



85

LMO11 928x98x1200mm post B

MOT11 928x98x1200mm post A

MOT1 98x28x1200mm post C

N

Playground retangle panel 750x752mm, lower hole 85mm

2X

Playground retangle panel 750x752mm, lower hole 100mm/

LMO11 98x98xI QOW

100

.

/LMO] 1 Climbing pole side panel

2X

|
\Guordroil D25x770

LMO11 slide side panel

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LMO11-1

DRAWN

|.Agar

12.05.2022

APPV'D|

ia  Tiptiptap™

DESCRIPTION:

Slide Dee with 2,15 slide

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:20

SHEET 4 OF 16




B
H 2150 slide
C
% ©
o
E
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM LMO ] ] - ]
NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:
APPVD Slide Dee with 2,15 slide
F
"FIF; T- t. t ol MATERIAL: .
Ch Ipuptap wood, metal, plastic A4
WEIGHT: | SCALE: 1:20 SHEET 5 OF 16




1

2

Aluminium profile post gap and
tube groundfixing assembly

Step 1

Post

6 x 60 Woodscrew

M10x100 bolt DIN603

M10 Washer DIN9054

M12 Nut cover cap

6 x 60 Woodscrew

Profile post cap

Aluminium post filling for post cap

Aluminium post filling for post cap

Aluminium profile post cap for groundfixing

Step 2

M12 Nut cover

M10 Nut DIN985

Aluminium profile post groundfixing

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO11-1

NAME

SIGNATURE

DATE

REVISION

DRAWN

|.Agar

12.05.2022

APPV'D|

DESCRIPTION:

Slide Dee with 2,15 slide

ia  Tiptiptap™

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:10

SHEET 6 OF 16




1

Wood profile post gap and
groundfixing assembly

Mé Nut cover
5,5x50 DIN7504-K
Mé Nut cover cap

il
e

750mm metal groundfixing—__|

6 X 90 Woodscrew

Profile post cap

Mé Nut cover
5,5x50 DIN7504-K
Mé Nut cover cap

H,Vm @\oﬂ)

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM LMO 11-1
NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:

APPV'D|

ia  Tiptiptap™

Slide Dee with 2,15 slide

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:6

SHEET7 OF 16




w

0

6 x 90 Woodscrew ﬂ

MOT1 98x28x1200mm post D

LMOTT 928x928x1200mm post B

MOT1 98x928x1200mm post C

M10x60 bolt DIN603

M12 Nut cover cap
MT10 Nut DIN985
M10 Washer DIN9054
M12 Nut cover

3 4

LMOT1 98x98x1200mm post A

fl

M10x100 bolt DIN603

M10 domed cap nut DIN986

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LMO11-1

DRAWN

|.Agar

12.05.2022

APPV'D|

ia  Tiptiptap™

DESCRIPTION:

Slide Dee with 2,15 slide

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:15

SHEET8 OF 16




L-100mm corner

<N

N

135mm U-shape corner

L-100mm corner

12 Nut cover cap

M10 Nut DIN985

M10 Washer DIN9054
M12 Nut cover

M10x100 bolt DIN603

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

PART NUMBER / DWG NO.:

WEIGHT ARE IN KILOGRAMM LMO ] ] - ]
NAME SIGNATURE DATE REVISION
DRAWN| 1.Agar 12.05.2022 DESCRIPTION:
APPV'D| Slide Dee with 2,15 slide
MATERIAL:

ia  Tiptiptap™

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:12

SHEET 9 OF 16




2

3

Playground retangle panel 750x752mm, lower hole 85mm

Playground retangle panel 750x752mm, lower hole 100m

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LMO11-1

DRAWN

|.Agar

12.05.2022

APPV'D|

ia  Tiptiptap™

DESCRIPTION:

Slide Dee with 2,15 slide

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:12

SHEET 10 OF 16




post

The panel must be attached to the
outer edge of the post !l

ITEM NO.

PART NUMBER

bolt DIN603 M10x100

olt DIN603 M10x35

nut cover M12

Washer M10 DIN2054

nut DIN985 M10

nut cover cap M12

N|ON | WIN|—

Corner 90° (45x60)

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

NAME

SIGNATURE

DATE

REVISION

LMO11-1

DRAWN

|.Agar

12.05.2022

APPV'D|

DESCRIPTION:

ia  Tiptiptap™

Slide Dee with 2,15 slide
connecting panel to post

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:10

SHEET 11 OF 16




Explanation of the “lower hole™ behind

A the panel name:

g )
B &
&
o
o
Ln
[ == S |
| I |
)
c &
=
el § R
S| oo
o
(@]
The panel must be installed on the post as
shown in the picturel
D
Inside
Platform
Post / . .
@ 2
E
Outside
Panel
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEGHT ARE IN KLOGRAMM LMO11-1
NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:
APPVD Slide Dee with 2,15 slide
" - connecting panel to post
[ L] - - Dl_,l :
;;#PP Tlptl ptap Y Wwood, metal, plastic A4
WEIGHT: | SCALE: 1:10 SHEET 12 OF 16




LMO11 slide side panel

M12 Nut cover
M10 Washer DIN9054

MT10 Nut DIN985
M12 Nut cover cap

M10x80 bolt DIN603

M10 Washer DIN9054

M12 Nut cover

M10 Nut DIN985

M12 Nut cover cap

LMO11 Climbing pole side panel

/M10x35 bolt DIN603

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

NAME

SIGNATURE

DATE

REVISION

PART NUMBER / DWG NO.:

LMO11-1

DRAWN

|.Agar

12.05.2022

APPV'D|

ia  Tiptiptap™

DESCRIPTION:

Slide Dee with 2,15 slide

MATERIAL:

wood, metal, plastic

A4

WEIGHT:

| SCALE: 1:12

SHEET 13 OF 16




5x40 Screw DIN7996

M12 Nut cover cap

M10x100 bolt DIN931
M10 Washer DIN9054 -
M12 Nut cover

' Guardrail D25x770

UNLESS OTHERWISE SPECIFIED:

DIMENSIONS ARE IN MILLIMETERS

WEIGHT ARE IN KILOGRAMM

PART NUMBER / DWG NO.:

LMO11-1

NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:
APPVD Slide Dee with 2,15 slide
3 "
T.'IE' 1 - il MATERIAL: -
Ch Tiptiptap wood, metal, plastic A4
WEIGHT: | SCALE: 1:12 SHEET 14 OF 16




w

Guardrail installation to aluminium post

1

2

M12 Nut cover cap

M10x100 bolt DIN931

M10 Washer DIN9054

—//
]
— Il

M12 Nut cover

Guardrail D25x770

Mé Nut cover cap
5,5x50 DIN7504-K

iyl Mé Nut cover
UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:
WEIGHT ARE N KLOGRAMM LMO11-1
NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:
APPV'D Slide Dee with 2,15 slide

ia  Tiptiptap™

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:7

SHEET 15 OF 16




1

In the case of a plastic slide, this bolt is M10x60 DIN603

2

3 4

platform

DETAIL A

I
S, SCALE1:5
/ ‘\ ITEM NO. PART NUMBER
4 ! 4 1 bolt DIN603 M8x45
2 bolt DIN603 M8x30
\ 2 3 bolt DIN603 M10x50
4 nut DIN985 M8
P 5 Washer M10 DIN9054
) 6 nut DIN985 M10
7 nut cover M8
8 nut cover cap M8
12 9 nut cover M12
. . 10 nut cover cap M12
Ground fixing (PE plastic) 11 metal screw DIN 7380 M8x16

12 bolt DIN933 M8x50
13 metal corner for slide

UNLESS OTHERWISE SPECIFIED: PART NUMBER / DWG NO.:

WEGHT ARE IN KLOGRAMM LMO11-1

NAME SIGNATURE DATE REVISION
DRAWN |.Agar 12.05.2022 DESCRIPTION:

APPV'D|

Slide Dee with 2,15 slide

ia  Tiptiptap™

connecting silde to platform

MATERIAL:

wood, metal, plastic

A4

WEIGHT: | SCALE: 1:12

SHEET 16 OF 16




	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View4

	Sheet4(2)
	Drawing View5
	Drawing View6
	Drawing View7
	Drawing View8
	Drawing View9
	Drawing View10
	Drawing View11
	Drawing View12
	Drawing View13

	Sheet8
	Drawing View14

	Sheet6(2)
	Drawing View15
	Drawing View16

	Sheet7(2)
	Drawing View17

	Sheet8(2)
	Drawing View18

	Sheet9(2)
	Drawing View19

	Sheet10(2)
	Drawing View20

	Sheet11(2)
	Drawing View21

	Sheet12(2)
	Drawing View22
	Drawing View23

	Sheet13(2)
	Drawing View24

	Sheet14(2)
	Drawing View25

	Sheet15(2)
	Drawing View26

	Sheet16(2)
	Drawing View27
	Detail View A (1 : 5)


